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(-4 +(-3) = 9" —(~10) =

(—4)7? +4 = (4D —9=

(4P +9= 302 -8 =

6> +10 = 77 47 =

(-3) D +6= (-3)° —4=

(—9)? +1= 10 — (-9) =

(-9)° +7= (-8)V+(-6) =

(—4)* +8= (-4 -2=

10+1= 47 +(-3) =

71?2 +2= (—10)D —(=5) =
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(4> +(-3)=13

65 1
(4P +4=—"=4—

16 16
9D +9= 2 =0
6> + 10 = 46
(-3)V+6= g = 5%
9P +1= % = 18—11
(—9)? +7 = 88

(—4)* + 8 =24
10+1=11

NP +2= % = 2%

9" — (-10) = 11
_ 37 |
A =9=(7)=(9)

3 g = (~2) = (-T5)

344 1

(_2) + - = 7__

7 =29 "
(-3)" —4=(-3)
10> = (—-9) = 109

QYD +(=6) = (-2 = (61
)+ (6 = () = (6)
4D = (2= (ol
PV -2= ()= (2)
2 1 =3y = (- = (212
4D+ (3= (T = (21
49 9

—10YCD — (—=5) = 2 — 4
10" =)= 15 %10
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